EARAROBEEIERT — 2 N— IBISH —F

20135 1A7H (A) 21\E&E5H

mﬂi 37 7 YIR3IX \ (%] W \ (REWM]  — | 4 (B) 14000 THE
[A&4]1%:210,00F ~ 23#%:3800MH ~ 3#&:1500MH  4#%:10,000H / 5&%:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 6lUZ ML Y b 3 zgﬁi@ 1:(3_4).7 -1-1-1 1397 — | 1 | 483 Eggi (EBHE)
L:A—-I>F)> B: XX/ K- #3) BER TE
2 2 | NFEVIL K i 3 ggﬁ%ﬂﬁ 1:(355).4 4-2-2-2 |40.3| — 2 462 ;guujgif (BEE)
RN—VFNTya BZSI=Y ) e mm
3 y|FrAZ—ZXH fo 3 | EAAAR 1:(3;3).4 5554 |40.5| — | 7 | 438 E(%?L; Jﬁf%)
QAHRE—HL B FrA=—XFyX ) e zm
4l5l5|UTrrTya— 3 | B (11:316/.27) 7788 |39.8| — | 3 (13_813) 19%})%5 _(EE%)
R:x¥Y/ by THY B:T4T7LRXYa— (A S ]
51717777 €N 3 | ERES (11:316/.29) 3335 [41.4| — | 5 | 394 (i?‘; _(;5?/%)
QiR Ry THY BRFHARARIL 09| 4 Eass
6lglg|l7ove>dn—> # 3 | e 1(:13/72.>o 6-6-67 |40.5| — | 4 ?_52(;) fﬁﬁ;ﬁe (&iR)
LT RIAY K> B:TSyorTI—14 elike
71111 [ FITRU—L 3 | FEEZ 1:(327>.4 8-8-7-6 [40.8| — | 8 | 414 E(%?L;J?E%)
R —RFAHLF— BT-AFLLIAR O |t s
8 NESDEY g4 i 3 %gﬁ_ (11:31 /.26) 2-3-3-3 | 42.3| — 6 383 /JEE}%E —(gf)w
QB TI—h— BALFAA O | gy
® I —F—@EBIERL
=== 6,3,7,2,4,8,5,1
2o=7r= 6,2,(3,7),4,8,5,1
Jo=3r= 6,2,(3,7),4,8,1,5
41—+ — 6,2,3,4,7,1,8,5
[ RN
B OB 6 110M 714K 2-6 130 B E 2-6 220M JEE 2-4-6 270M
8 B 6 100M 4-6 260 B E 6-2 2804 K31 6-2-4 690F
2 130 2-4 330
4 230M

ABICOVWTRDTEEERROODE. TR LIV,




